) For a spherical nucleus, derive the following exp: hange during nucl rgy for both of gra pht and dia
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For the three slightly differ of surface energy of diamond, compute the number of
atoms in clustet where the tblty of dia dbecomesthe same as that of graphite.
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b) Using the result of (a), derive the expression for the critical number of atoms and energy barrier. _ ( (1 % ( 6 6
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d) What is the necessary condition for a diamond cluster of any size to be more stable than b Fo}' th ace energy of diamond, compute the ratio of nucleation rate between
graphite ?

¢ expression: /= A-exp (-4G*/&T), and assume that A is the same
e and diamond and T = 300 K.
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+) Assuming that the critical number of atoms for graphite nucleation is 100, estimate the driving .
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) What is your conclusion on this problem?
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